MATH 252/GRACEY

EXAM 5/CHAPTER 15.1-15.5
75 POINTS POSSIBLE NAME ‘\Z\Q,U()/

LEAVE ALL ANSWERS EXACT UNLESS THE PROBLEM INDICATES OTHERWISE
SHOW ALL WORK IN ORDER TO EARN FULL CREDIT

1. (10 POINTS) Find |F| and sketch four r‘egresenfm‘lve vectors in the vecfor' field
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2. (15 POINTS) Consider the vector field F(x,y,z)= y*z%i+2x2°j+3xy°2k .
a (6 POINTS) Show 1hat F |s conser'vaﬂve
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b. (6 POINTS) Find a po’renhal function for F.
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3. (10 POINTS) Evaluate the line integral along the given path. g X (t): 3¢ X '(t): 5}/
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4. (10 POINTS) Use the Fundamental Theorem of Line Integrals to evaluate the line
integral I 2 = dx+x2 :yz dy , where Cis the line segment from (1,1) to (2J_ 2).
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6. (10 POINTS) Use a line integral to find the area of the region R . y= _15 X3S

% R: triangle bounded by the graphs of x =0, 4x-3 y 0, and x+3y=15
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7 (10 POINTS) Find an equation of the tangent plane to the surface represented by the
vector-valued function I (u,v)=ui+vj+ Juvk at the point (1,11).
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